ĐÁP ÁN ĐỀ ĐỀ XUẤT GIỮA KÌ 2
MÔN TIẾNG ANH 7

(0.25 point for each correct answer)
PART A: LISTENING (2.25pts)

I. Listen to a talk and decide if the statements below are true (T) or false (F). Circle True or False. (1.25 pt)
	1. F		2. T		3. T		4. F		5. T
Listening transcript:
Woman:	What’s happening in the park today?
Man:	It’s the Summer Festival. Don’t you
know about it?
Woman: No. Is it a music festival?
Man:	No, it’s a festival of food and art.
Woman:	Really? That sounds unusual.
Man:	Yes, it is a little. But it’s good.
Woman:	When does the festival begin?
Man:	On Friday. Last year it finished on Saturday, but this year the festival will run for three days, not two.
Woman:	Good! I’d like to go. Is it open all day?
Man:	The gates open at eleven in the morning, and they stay open until midnight. 
Woman:	I don’t think I’ll stay that long. But I might go in the afternoon from about three o’clock until seven o’clock.
Man:	Well, don’t come by car. The city centre will be very busy. Take the bus. The number 50 goes to the park every 15 minutes. 
Woman:	Good idea.
Man:	And when you go, look out for Paxman Pies. They are really good!
Woman:	Sorry, what kind of pies?
Man:	Paxman. P-A-X-M-A-N. They have meat pies, fruit pies, vegetable pies... and they’re delicious!

II. Listen to the recording and choose the best answer A, B or C (1.0pt)
1. B		2. A			3. B			4. C
Big cities around the world have traffic problems. Mumbai in India is one of them. Mumbai is one of the most congested cities in the world. Traffic jams happen nearly every day, so drivers have to spend a lot of time on the road.
There are several reasons for traffic jams in this city. One reason is its increase in population. With nearly 20 million, Mumbai has too many people on the road. Another reason is that the roads in Mumbai are narrow, and many are not in good condition. Also, many road users do not obey the traffic rules. As a result, this problem is getting worse and worse.

PART B: LANGUAGE FOCUS (2.75pts)

I. Choose the best answer A, B, C or D to complete the sentences: (1.5 pts) 
1. A		2. B		3. C		4. D		5. B		6. D		7. B

II. Supply the correct tense or form of the verb in parentheses:(1.25 pts)
1. drive		2. watches		3. did not go/ didn’t go	4. is coming 
		

PART C:  READING (2.5pts)

I. Choose the correct word A, B, C or D for each  gap to complete the following passage. (1.25pt)
1. C		2. B		3. D		4 A		5. C	

II. Read the following  passage and do the tasks below: (1.25pt)
A. Choose the best answer A, B, C or D to complete the sentences.
1. B				2. C
B. Answer the questions:
1. (The season of )Tet/ It occurs around the end of January and the beginning of February.
	Or: Around the end of January and the beginning of February.
2. (Before Tet,) People/ They often buy new clothes and clean their houses.
	Or: Buy new clothes and clean their houses.
3. Yes. / Yes, there are.

PART D. WRITING (2. 5 pts)
I. Complete the second sentence so that it means the same as the sentence before: (1.5 pt)
1. Although he is so young, he plays football skillfully.
2. What is the distance between Nam Dinh and Ha Noi?
3. How about going to the cinema tonight?
4. It takes me about two hours to do my homework every day.
5. My father usually goes to work by car.
6. How much does a bottle of water cost?
II. Write a paragraph (60-80 words) to describe the traffic where you live. (1.0pt) 
Marking scheme: 
The impression mark is based on the following scheme:
1. Format (0,1 point for correct format): One paragraph only with the body and the conclusion.
2. Content (0,4 point): a provision of main ideas and details as appropriate to the main idea.
3. Language (0,3 point): a variety of vocabulary and structures appropriate to the level of secondary students. 
4. Presentation (0,2 point): Coherence, cohesion and style appropriate to the level of secondary students. 


---------------- The end --------------
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